MoT(t) / MoT(c0)

log SFR [M  /yr]

[Fig03] MoTs & SFRs 4 discussion || K0132 0.3.6 d13¢512 w/base Bgsd61 || FWHM=0.5dex ; AR=1.0 pix || UGC03038

SDSS stamp 025 MoT = M(<t)/t [M , /yr] 00 MoT-SD = M(<t)/t/A [M . /yr/ kpc? |
; - : ' @' 0.8 _| Asari+07ISFR—SD(t)|__; _________ (P‘II_

G 1 o7k | BN 3
0.6
0.5
0.4
0.3
0.2
0.1
0.30

MoT(t) / MoT(c0)

0.20

25F SR AR

0.15

0.10

0.05

0.25

[\
(V)]

!
' 0.20

[\
(=]

0.15
0.10

—_—
(V)]

0.05

—_
S

0.16
0.14
0.12
0.10
0.08
0.06
0.04
0.02
0.045 4
0.040
0.035
0.030
0.025
0.020
0.015
0.010
0.005
0.07

0.06
0.05
0.04
0.03
0.02
0.01
0.08
0.07
0.06
0.05
0.04
0.03
0.02
0.01

Cumul M, [10"M ]

V)]

<=0.5 HLR []
<=1.0 HLR
> 1.0 HLR
tot

integrated

log SFR-SD [M , /yr/kpc® ]

log t [yr]




